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No. of Quésﬁons : 100

U9 &l HEAT : 100
Time :'2% Hours Full Marks : 300
1
Wi : 25 S | quTiE : 300

Note : (1) This questioh booklet contains 100 (hundred) questions in all
(30 in Section -A and 70 in Section - B). Attempt as many
questions as you can. Each question carries 3 marks. One mark
will be deducted for each incorrect answer. Zero mark will
be awarded for each unattempted question.
¥ a-gRasr 7 g9 100 (W) wT & (@vs-or § 30 7
GUS-T # 70 ) | STAHINAF u9wf o & FTX B qTST FF | TEE
-ma(ﬁ)mﬁw%lmmmimwm
PICT SAF | TAH FTART IS BT H@iF g S|

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

ﬂﬁwﬁmﬁmmﬁw%ﬁaﬁmﬁﬁﬁ W Frepeas
& I T

P.T.0.



01.

02.

SECTION - A
grs - A

Which one of the following should not be the first period activity ?
(1} Flag hoisting

(2) Assigning homework

(3) Announcement of the day's activity

(4) Cleaning of the classroom.

Prr # & Frg fear @ geel 58 # F@F S =ned
(1) esTEsT '

(2) & Hrd @ far S

@) R X @ Braned #t ga &

(4) HET W/ AHE FHIAT

Teacher knows that each student of his class is different. Which one
is the best way to handle his class ?

(1) To coach slow learner after school.

(2) To ask bright students to study in the library.
(3) To ask other students to teach other students.

(4) To organize groups for specific purposes.

@am%m%%waﬁmwmm%%u
Mmm%mawaﬂﬁmmmaﬂzﬁrw%?

(1) RIEed @ U SR Bl it hifeT BT |

(2) @amgﬁa’%msﬁaﬁgmzﬁmﬁ'qaﬁ%ﬁmml
3) @%mﬁﬂmwﬁﬁaﬁqﬁ%ﬁ-ﬁml

(@) Ffere SR ¥ @R H TS BT
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03. The best method for a teacher to adopt with a pupil who frequently
stammers in class is to : ’

(1) Afford the child ample opportunity to recite to the class.
(2) Ignore the child.

(3) Suggest that the parents seek professional help.

(4) Keep the child after school for individual help.

U AEUF & R FaT § e g a=% @y oFfiR Y &
I IUGH alH 9 ¥ % 9w

(1) B= A e § yqsT &1 gate TET gI= B |

(2) B % 3IVer FY | :

(3) wﬁmaﬁﬁmﬁmaﬁwgﬁlﬁ%i

(4) ﬁm%wmﬂmmm%ﬁﬁr@:

04. A class teacher has been assigned to look after the school library
management. The teacher's top priority should be to make sure that :
(1) no books are lost or damaged.

(2) only books that are popular with the children are ordered.

(3) the library is used appropriately by maximum number of children.
(4)  Children are quiet while in the library.

m%:awma%ﬂv@mwhmaaﬁm%qf?ﬁ:

(1) ﬂﬁ%?ﬂgﬁm@%m@mq@ﬁml

(2) W%Mﬁmmaaﬁwml
(3) Ww%wﬁa&mmwﬁ,
(4) OF O gEheE F @ ar e <

S
P-TOO.



05. During the first parent teacher conference of the year, the teacher
should do all of the following except to :

(1) include the child, when appropriate.

(2) encourage the parent to talk about her child.

(3) disagree with the parent's philosophy of child reading.

(4) offer a cup of coffee or tea.

af & ger atoTTE SfEE had § F § o B oS

Y Gl HE STEATEH Bl HEA AN

(1) St SR & A a= @ ot wfwi e =i |

(2) aaﬁ%qﬁmﬁwﬁﬁ%aﬁﬁmmﬁ%%aaﬁﬁm
|

(3) T B AT & SrEE $ cuiF & orEend e ed |

(4) @Wﬁﬂﬂmmﬁqﬁaﬁaﬁrmﬁ%ﬂaﬁﬁl

06. All of the following statements about children are correct except that :
(1) Older children in elementary school are less prone to illness
than younger children.
2) Many children do not eat proper breakfasts.
(3) Children like teachers who are firm and consistent. |
(4) Girls are superior to boys of the same age in mathematical
abilities. :

@ﬁ%ﬁiﬁﬁﬁmﬁﬁwﬁ@gmaﬁa@%:

(1) qﬁﬂﬁﬁﬁ@ﬂﬁﬁa@aﬁ,@%aﬁaﬁgﬁmﬁaﬂﬂﬁ%nﬁ
@ltﬁg@'ﬁﬂﬂ@ﬁ%l

2) aqf'aasiarafaaﬁmmamﬂaml T

3) aawawqﬁﬁmmm%ﬁﬁqaw
B

(4) mﬁ_aﬁeﬁ%mﬁﬁnﬁﬁﬁmﬁaﬁiﬁaﬁﬁl



07. If parents ask teachers about their children's television habits, it is
best to suggest that they : '

08.

(1)
(2)

(3)

(4)

prohibit television viewing by children.

allow children to watch only those programmes selected by the
parents. :

encourage family viewing and discussion of jbintly selected
programmes.

give children freedom to select whatever they want to see.

A A Sty | o T B e I & oneq

(1)
()
(3)

(4)

% AR F 9B @GR orew1 gEE a€ AW B

Il 1 A @ U 2 |
TS Bl DAW HAYA BRI AT FrRibH 3@t F STARY 3 |

IRAR & T G w9 § AR e 7 wgaa w9 @ wafe
HrFHA 9 e st w9 B SeaRa w5 |

aﬁfﬁﬁ@ﬁ%@ma@.m%%

Sohan and Mohan have the same mental age of years 8. We can infer
that : |

(1)
()
(3)
(4)

they may have the same potential for success in school.
they may have the same IQ. |

their ability to learn may be quite different.

they have copied from each other on the test.

qie ud dieq a A 8 ¥ Fr 2, 7E Ry

(1) aﬂa%%amﬁmmaﬁm@aﬁ%u
(2) ST IQ Wsh 1 &) gepar B
(3) Gﬂﬁ»‘%ﬁﬁﬁhﬂmw&ws‘rﬂwﬂ%l

(4) a@ﬁhﬁ%ﬁﬁwﬁﬁm

4 P.T.0.



09.

10.

11.

Of the following the most important factor for learning is:

(1) ability to read (2) a good book

(3) desire to learn (4) a good teacher.
Frer & @ oiftrm & R @@ we@yel HIh ©

(1) 9@ @l dradr (2) TH T=Hl R
(3) HiEw @ F=or (4) U 3T\ THH

If a teacher is dealing with a challenged student, the best thing to do
for him is :

(1) to feel sorry for him.

(2) to sympathise with him.

(3) to ignore him.

(4) to train him in self-help techniques.

ST STEATIE 1 hdl FARN B (37T BF) & el e
HT B A 39 =Afey b

(1) IEH SUL W@ The BT |

2) sEB Gy gergdl ke

(3) IQ AoTLeT=TS T & |

(4) 58 @ FE FE B adet B ARETT )

If the following words are arranged as per dictionary, which serial will
be appropriate :

ﬁqﬁf@agﬁﬁmwaaﬁwaﬁﬁwaﬁwwaﬁqwéﬁw?

(i) Preface, (ii) Plucky, (iii) Punctuate, (iv) Purify, (v) Plentitude.
(2) v, iii, 1, i, v

4) v, i, iv, i, il

(1) v, i, ii, i, v

(3) v, ii, i, i, iV



12.

13.

14,

15.

Complete the series :

T AN H/ YA BT
3,9,27, 81, (c...... )

(1) 144 (2) 270 (3) 162 (4) 243

In the following sentence mention which word out of the choices
given provides the best answer :

A school always has
(I) Teacher (2) Class (3) Classroom (4) Desk

M ar & a@=t § I8 g B @t o By saer a9 et
IAT B

Q% fqErerd q gqer gar & .
(1) 319 (2) cReT (3) T hET 4) 3%

.Communication : Message : : ? : ?

(1) Humour : Amusement - (2) Expression : Words
(38) Clarification : Doubt (4) Radiation : Cosmic
TEGOT : HAY ;P ?

(1) &g : qReH (2) oi¥EfR @ o=
(3) TIEEHTOT : gfeHT (4) fAfERor : fasges

If MPOEPO means LONDON, what does NPTDPX mean ?

A& MPOEPO &I iR & LONDON & NPTDPX @l &7
fag & ?

(1) MASCOW (2) AMOSCO (3) MOSCOW (4) MOSEOW

P.T.0.



16.

17.

18.

19.

I go towards south, then turn to left, then left again, and then right.
In which direction am [ moving now ?

(1) South (2) North (3) West (4) East

# aferor faem @y ot € R aid gean € R S g g ol
5 a3 | ot § fpg fXam @t o @ g 7

(1) afeqor (2) STX (3) uig=™ (4) @

Which letter is ninth to the left of thirteenth letter from your right ?

TR AR F 13 F T ux Rud oER 4 9 § TN WX HiA-HI
Y fRerg ® 7

(1) s (2) H - (B E 4 G

Ramesh is 5 years younger than Rekha and Giri is 5 years older than
Seema. Sahil is double the age of Seema and Ramesh is 2 years older
than Giri. Sahil is 6 years old. 7 years ago who was the youngest ?

(1) Ramesh (2) Rekha (3) Giri (4) Sahil
AT T ¥ 5 ay sier 2 ofw M dwr § s5ad gg1 81 e

o ou g A AR B ol W AR & 29 g B ) @fed
39 6ad ) 799 Usd ded Biel HiF o ?

(1) TR 2) Y (3) PR (4) @iea

In a row of students Ashok is 4t from the left while Gagan is 17" from
the right. When they exchange their position, Ashok becomes 6t
from the left. How many students are there in a row ?

ﬁaﬁzﬁaﬁqﬁaﬁwﬁfﬁmwmﬁﬁw%mﬁsmm
Iwm*éaaﬁ%uaﬁ%amﬁwaﬁ%qrmﬁmm
wmaﬁ@cw@rw%ltifaaﬁagafaﬁﬁﬁmzﬁ%?

(1) 20 (2) 21 (3) 22 (4) 23

10



20.

21.

22.

TAENWY RNy WYy

Find out the missing number :

mwa¥mmrmﬁaﬂﬁq:_

12 |4 |9
7
13 |6
(1) 3 (2) 11 3 10 4) 9
NTSE stands for-

(1) National Talent Search Examination.

(2) National Teacher Selection Examination.
(3) National Teacher Search Examination.
(4) National Talent Selection Examination.

(1) I I q SFniEReT |
(2) AT TR AT SFTTIAI |
(3) A FreR T sqonTRYE |
(4) AN T AT TR |

Which is NOT true for National Curriculum Framework (NCF 2005) ?
(1) provides the framework for making syllabii,

(2) provides the framework for developing textbooks.

(3) provides the framework for teaching practices.

(4) provides the framework for teacher selection.

11 P.T.0.



23.

24.

Yo HiEge BEs (T @ U 2005) & frr w w7
(1) g Ueashd et & /1 BHgs J& Har © |

(2) %mgﬁzﬁ%ﬁn’m%%ama%mm%n

(3) ae T @ R Huas gee Hl o |

(4) g8 Rreor @gq & R HAas TG BT T |

Recently, who has been appointed as Director of CSIR-National
Chemical Lab, Pune ?

(1) Thokozani Mazozi (2) Naledi Pandor

(3) Ashwini Nangia (4) Roger Jardine
mﬁéﬁwﬁﬁgﬁﬁ@mmm%%ﬂm%ﬁw%,w
& FRees & 9 9T g8 © 7

(1) eepIoTT HSiil (2) FEr 9T

(3) e AT (4) TSI SRS

Who gave awards 10 schools based on environment-friendly practices

in India ?
(1) CSE (2) NCERT
(3) UNICEF (4) NCTE

Eﬁfﬂ%ﬁﬂiﬂﬂ&ﬂﬂﬁﬁgﬁﬂﬂ'{ﬁﬁaﬂ%?
a) & o € (2) wA W g A A

o) 3 o WE T (4 T EAE

12



25.

26.

27.

gt il Sl coi b ] S o

Who has been appointed as new Director of NCERT in September
20157

(1) Dr. Hrishikesh Senapathy

(2) Dr. Santosh Panda

(3) Dr. Vinod Agarwal

(4) Prof. Sudesh Mukhopadhyay
mﬁﬁ%&#ﬁgﬁa@%ﬂé@rif%ﬁ%&m%wma&
™ ¥ 7 |

(1) Sf. seber I (2) 3f. g<w gwsT

(3) ST fodiie swram (4) Gt g gETEEy

Madan Mohan Malviya University of Technology is situated in :
(1) Varanasi (2) Kanpur (3) Gorakhpur (4) Allahabad

A Hie A SR fvafiem we ox Rag 2
(1) aIreE . (2) BTG (3) TMTEYY (4) sTERERE

What is the Inclusive Education ?

(1) Male and female children participate and learn together in the
same school. -

(2) General, OBC and SC children participate and learn together in
the same school.

(3) Children with and without disabilities participate and learn
- together in the same school.

(4)  Children of all religions participate and learn together in the
same school.

13 P.T.0.



28.

29.

30.

grafar faremw @@= g ?

1) R o gew @ e A o e T o W AR

(2) jﬁmlf,eﬂzﬁiﬁaﬁrm@wawﬁ@wmaﬂ?w
od 2 |

(3) FIepaliT ud HHART TE U & whol § U A 9gd A 7R
aa

(4) | emt B =, U & A A uH A ged SR AT Ad ¥

The number of Central Universities in India is :

aa § Ff Reafemedl @ den /e v

(1} 27 (2) 46 (3) 48 (4) 38
Who was the first Vice-Chancellor of Banaras Hindu University ?
(1) Sir P.S. Swamy lyer

(2) Pandit Madan Mohan Malviya

(3) Rai Bahadur Sunder Lal

(4) Dr. Sarvpalli Radhakrishnan

W%ﬁﬁsaﬁmm%qwmwﬁaa?
(1) =it di. ug. @ A (2) 9. #ed Hied A

(3) @ FBR gra} A (4) =f. Fedel TEHTT
Unnat Bhart Abhiyan was launched in :

(1) September 2014 (2) October 2014

(3) December 2014 (4) March 2015

St wE AR B gE fRar T
(1) Fa=i 2014 ® (2) oTFeET 2014 H
(3) famaT 2014 (4) wrE 2015 #

14



31.

32.

33.

SECTION - B
s - §

Binomial nomenclature was given by :

(1) Darwin , (2) Whittacker

(3) Linnaeus - (4) Engler and Prantle
S aefiereor fBar e

(1) =ifd| sro C (2 @RS BRI

(3) =g s (4) TR 3T U BRI
Cell wall in fungi is composed of :

(1) Chitin (2) Cutin

(3) Cellulose (4) Suberin

Hahl N B R o St D

(1) ebrfe | (2) Fgfes

(3) dg ) gIRT

Which gfoup of plants is called Amphibians of the plant world ?
(1) Bljyophyt_es (2) Pteridophytes

(3) Gymnosperms (4) Angiosperms

ﬁﬁ%ﬁhwmhﬁqwqwmﬁmsmmeaGmn%?

18 P.T.O.



34. Prokaryotes differ from eukaryotes in having :
(1) Mitochondria (2) Chloroplast

(3) Nucleolus (4) 70S ribosomes
fRde, gaiEies 4 /e 8

(1) WTSrehI~gaT & HOT (2) FARRE & BT

(3) —aferraeTd & BT (4) 70S TEAERE & BT

35. Agar-agar is extracted from :
(1) Porphyra (2) Gelidium

(3) Sargassum (4) Polysiphonia

STR-3TX T STar & 7

(1) 9RwET /@ (2) Sffezs &
(3) HTEH 4 (4) dfchfesmitar &
36. Endosperm in gymnosperms and angiosperms respectively is 3
(1) N, 2N (2) 2N, 3N
(3) 3N,N (4) N, 3N

qﬁﬁﬂﬁﬁ?%@wﬁﬁ@wﬁmﬂ:aﬁ%:

(3) 3T, T (4) 1,3

16



37.

38,

39.

ol B i B U

Dark reaction of photosynthesis occurs in :

(1) Grana (2) Stroma

(3) Thylakoid . (4) Quantosome

TR HeAYOT ) I AMHEHAT (Dark reaction) Bt ¥ :
(1) I ‘2) wmr i

3) AT H 4) FET=rame §-
Mangrove vegetation respires through :

(1) Leaves (2) Rhizome |

(38) Corm ~ (4) Pneumatophores
STIGE, aeeafeedt saae amed ¥ -

(1) ofcrat & Aream § (2) TFNW B wHem [
@) = B mremw { (4) FACBRE P "I F

How many glucose molecules are required to produce 38 ATPs
anaerobically ?

(I) One (2) Two

(3) Nineteen -~ (4) Thirty eight

siferdlsadT 7 38 Todlodo (ATP) I I & 3 forg vqaaq 3
R STopsTt &1 sTasaear ary & 2

(1) Tp 2

() =i (4) Ty

17
PcT.Oo



40. Sunken stomata are found in :

(1) Mesophytes (2) Halophytes

(3) Hydrophytes (4) Xerophytes

§ gu @iter a1 S T

(1) Heteged d @) Yeemed (wEEnfiE)

(@) TESmHEed (S § @) Shrerged (TegRE) X

41. Wood is common name for :
(1) Secondary Phloem (2) Pith

(3) Sccondary Xylem (4) Cambium

HS I G A B |
(1) facos welied & e (2) R & ™
(3]%&%%%%"1 (4) BfteH & fQ

42. Kreb's cycle starts with formation of :

(1) Citric acid (2) Succinic acid
(3) Oxalo-acetic acid (4) Acetyl co-enzyme A
Seq < 1 FerwTOT UTEE X ®:

(1) qgiazsew%aﬁﬁﬁ
(2) gﬁaﬁfﬁw%aﬁﬁ-ﬁ
(3) SRR o & A H
(4) qmﬁaeﬁr—qsﬂgq;x%aﬁﬁ

18



43.

45.

Kranz anatomy is found in :

(1) All plants (2) C, plants

(3) C, plants (4) Only aquatic plants
BT G (STeafent) wrar st .

(1) @ Gt F 2) -3 qeff F

(3) -4 Qe F (4) Haer S Qe 7
Embryo sac in angiosperms typically has :

(1) One nucleus (2) Two nuclei

(3) Four nuclei (4) Eight nuclei
e & yerpy frsiyag: S

(1) G Fsep 2 f& ==

(3) IR B=ws (4): o1 Fx

The most common larval forms met within crustacea is known as :
(1) Miracidium larva (2) Nauplius larva

(3) Bipinnaria larva (4) Trochophore larva

mﬁmﬁwaﬁmmuﬁaaﬁmww%:
(1) PFrfefan qaf (2) R wraf

() =ER=Rar “4) TPBIR gt

19
poTcOc
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46. Which one of the following hormones of the pituitary gland is a direct

acting hormone that is without interaction of other hormone ?

(1) TSH ) ACTH (3 LH (4) MSH
fﬁzgg‘&yﬁua;rﬁrm%ﬁhﬁﬁﬁaﬁmwsnﬁﬁmﬁ%ﬁmaﬁﬁ
& aratiar BRY geer gl B err 8 7

(1) &. Tg. od. (2) w. #. 4. .

(3) TTI. TH. (4) TH. TH. TF.

47. Skiu is anracccssory organ of respiration in :

(1) Humans (2) Cockroach
(3) Lizards (4) Frogs
WQW%WGT‘T%Wﬁ@Fﬁ%:

(1) #9a (2) @i o
(3) Rygaxtt (4) AgH H

48. Wings of insects and wings of birds are the examples of :
(1)  Analogy | (2) Homology
(3) Serology . (4) Mimicry
71 & g AR aiRE & 9 Swel R
(1) T (2) Bl P
@) &t @ @) R

20
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49. The genetic material of a virus is :

(I) D.N.A. (2) R.N.A.

(3) Either DNA or RNA (4) Both DNA and RNA
%mmw@aﬁmﬁ(ﬁﬁﬁzﬁﬁ%ﬁw)%:
(1) @I uq. .

(2) 9R. ©H. u.

@) .. T AR . T F Y 9w
(4) 2 T T R R, T w. AW

50. Which of the following is an incorrect match ?

(1) Alexander Fleming - Penicillin
(2) Louis Pasteur - Fermentation
(3) Edward Jenner - Vaccination

(4) Antony Von Leeuwenhoek - Sterilization

W@Hﬁﬁ%wm@ﬁa%_

(1) TAFTST wRif - Uit
(2) g 9= - v (Hea=ea)
B) TS e - AR (o)

() TN A @ - TEEEN (mogerer)

41 P.T.0.



51.

52.

53.

In which one of the following groups all animals are hermaphrodite ?
(1) Hydra, Ascaris, pheretima |

(2) Hydra, Homosapiens, Leech

(3) Tapeworm, Toad, Starfish

(4) Hydra, Leech, Tapeworm

ﬁ%ﬁﬁﬂﬁﬂﬁ@rﬁw@r@ﬁﬂﬁaﬂa(wmazamﬁﬁa:
(1) eTEgl, TEhid, BReAT (2) eEgT, erarEd,
(3) 2uam, drs, WRHT (4) =g, o, 9

Phylum Protozoa is divided into four classes on the basis of their :
(1) Nuclear Structure (2) Locomotor structure

(3) Mode of reproduction (4) Mode of nutrition
e ArPvsion S o e At # e R S E
(1) D=ep dXaT & AR T

(2) QRHET HIET & HAER X

(3) S B dde & SER 9T

" (4) qiyor @ ad® B STHR W

Ornithorynchus is a :

(1) Fossil bird

(2) Flightless bird

(3) Connecting link between reptiles and birds

(4) Mammal

22



54.

SS.

ey

(1) TH Sfrarey gaft

(2) Th IsAMEN qeft

(3) wH gy o} weft B g o wh

(4) TH U

Ichthyophis is :

(1) afish ' (2) an amphibian
(8) a reptile (4) amammal
SRR :

(1) U wee R (2) TH IR B
(3) TH whgy § - (4) T W R
The action potential in a mammalian nerve fiber is generated by.
(I) Na*ions (2) K'ions
(3) Clions (4) Ca'*ions

56.

of mammalian ear is called :

(1) Basilar membrane (2) Otolith membranc

(3) Tectorial membrane (4) Reissner's membrane

23 P.T.0.
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57.

58.

59.

TR B T A ARG ST @ WA B gaH
Tl fEreeiieaT d@XeET deanl §

(1) afaee et (2) ofeferer fEreet
(3) 2fera freeh (4) da=rd RBreeh
The sarcomere is the area between :

(1) Twolbands (2) TwoZ bands
(3) Two H bands (4) Two A bands

qrRET fpe § @ fhad "ed @ 8 ©

(1) & o1 a=sd & 7 & (2) a ST A=d B A H
(3) 3 U™ Igd & °HA @ (4) D T AT B AA A
Hamburger's phenomenon is also called :

(1) HCO, shift (2) Chloride shift

(3) Hydrogen shift (4) Sodium pump
Srepicg @ afrmer ot S STl B e

(1) i e (HCO,) farde & |

(2) Frige frge &AM q

(3) Lo e & M q

(4) Aifegd v & TH q

The Vitamin known as Thiamin is also called as:

(1) Vitamin B, | (2) Vitamin B,

(3) Vitamin Bg (4) Vitamin B,

o1 e faeTiae Al ST S ?:

(1) WBI%WQ (2) WBQ%W@{
(3) e B, & - & (@) faet= B,® M 9
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60. When an ideal gas is expanded, the cooling does not occur because :

61.

62.

(1) Inversion temperature is high.
(2) Mutual-attraction forces are not developed.
(3) Lossin kinetic energy is equal to work done.

(4)  Molecules colloide without loss of energy.

Waaﬁﬁﬁaaﬂmmram%;aammwaﬁimﬁmﬁ%:
(1) JT9 a9 ifees B B

(2) SIH ERYE T TE Ieqe D

(3) Mﬁamﬁaﬂmmzwﬁa$ﬁ§hmﬁrém%|

(4) Y 9 F B Sorf B @ ey ¥

The crystals whose molecules are linear are known as :
(1) Smetic liquid crystal (2) Nematic liquid crystal
(3) Cholestric liquid crystal (4) Isotropy liquid

%ﬁﬁﬁﬁﬁ%&ﬂ%@%@ﬁﬁaéaﬁ%%:
(1) A s frea 2) #ﬁhﬂﬁ%@ﬁﬁﬁ,
(3) aﬁﬁﬁa—csférﬁagf%ﬁea (4) aﬂs@grd}%rﬁag(md’rﬂa)

In a body centred cubic cell, an atom at the centre of the unit cell

touches :

(1) 2 atoms (2) 4 atoms (3) 6 atoms (4) 8 atoms

ﬁmﬂma%%maqﬁﬁmﬁt@ﬁﬂﬁ%ﬂ%%ﬁﬁﬁ%ﬁmmg
i#ﬁﬁ@nmﬁqvmpﬁ%am%ﬁiav%:

(1) = a1 @ = (3) & oy (4) 3715 a79p
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63. Which one is correct statement in the case of milk ?

64.

65.

(1) Milk is an emulsion of fat in water.

(2) Milk is an emulsion of protein in water.
(3) Milk is an stabilized by protein.

(4) Milk is an stabilized by fat.

3) gﬂrﬁﬁﬂmwﬁamm%l
(4) wmmwﬁawm%l

The cell potential is a :

(1) Colligative property (2) Intensive property
(3) Thermodynamic property (4) Extensive property
qd T@Ha T

(1) T icied IO (2) TH Fera I
(3) U FHISEAIHD T (4) wh FEEclEa IO

The triple point is the point where :

(1) Three components are in equilibrium.

(2) The number of degrees of freedom is three.
(3) The number of degrees of freedom is zero.
(4) The number of degrees of freedom is one.

&uﬁﬁgﬂﬁﬁmw%ﬁéﬁ':
(1) Sy argaa arEEn # 2 2
2) %ﬁmmﬁé@reﬂﬂaﬁ%t
(3) %ﬁaﬁ%ﬂ%\‘s’qaﬁﬁwsﬁ@?ﬁ%l
(4) mﬁmma&mwaﬁﬁl
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66.

67.

68.

When 1 mole of an ideal gas expands isothermally at 300 K from 1
litre volume to 10 litre volume. The internal energy change (AU) for
this process is (given that R= 2cal K! mole™!) :

(1) 300 cal. | (2) 600 cal.
(3) 1200 cal. (4) 0 (zero) cal.

it 1 HIST st A AR 300 K 9w w9 @ e e
ST & RrEd 1 dfiex straae o 10 SET SIS & ST B | 27 uiday
A SRE S (aU) aRET BT (R T R Re gcal ko mole!)
(1) 300 Heirdy B (2) 600 Hard B

(3) 1200 HH 2 (4) T I B

A reaction proceeds with increase in both the enthalpy and entropy. It
will be spontaneous if

(1) AH<TAS (2) AH=TaAS

(3) AH>TaS (4) None of these

%@a&mas@aﬂwmﬁm%m@ﬁww
Bl afy '

(I) AH<TAS : (2) AH=TAS

(B) AH>TAS 4) FH A IS T8

Diethylether on heating with €xcess concentrated Hj gives :

(1) Methyl iodide _ (2) isopropyl iodide

(3) Ethyl iodide (4) n- propyl iodide

27
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69.

70.

71.

eSeoaT A FET STeEs A st # W A
v o g g o

(1) ez sAeEs (2) STEEUTE TEASES

What type of radiation is used in nuclear magnetic resonance

spectroscopy ?
(1) Visible light , (2) Ultravoilet light

(3) Radio waves (4) Micro waves

WWW(NMR)@WEEWWW%%@H
uger B 8 7

(1) 39T T (2) SrcgTETANE T

(3) e AT (4) wTEERT LA

Which hybridization is associated with bond angles of about 120 degree ?
F-91 ERfSISTEe AT 120%&??@1?:%@@&?«%%?
(1) sp (2) sp’ (3) sp’ (4) sp’

Of the following non-electrolytes which one will produce a solution

with the lowest freezing point if 158 of the respective species dis-

solved in 1kg of water ?

Fye] AM-gARIIRE 15¢ af& 1 fholilo qrft e 9, AT
—-EEEAEe qad B fewin a1 HM 7
(1) CeH1.0s 20 cHoH () C,H,OH 4) CHO,
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72.

73.

74.

The para magnetic molecule is :

=1 7 91 AMfees o1y ® -
(1) o, (2) N, 3) ¢ (4) clo,

An particle of mass m and charge +q is situated exactly at the mid
point at the line joining the two stationary particles each of charge +q.
If the distance between the two stationary particles 2L and the par-
ticle at the center is given a smal] displacement along the line joining

the two stationary particles then the frequency of oscillation of the
particle is :

maalm:ramwanéarasrwwzwg&wﬁmwﬁ(mw
aﬂawm)%aﬁﬁﬁaﬂiﬁﬁﬁaw%luswﬁﬁﬁamwﬁ
WW%WW%@W%W%]WG@%W
ﬁwﬁamw%lsﬁ‘rﬁraﬁﬁma@%@?ﬁ:

4] 1 | qa |1

) 5 mzne I} (2) ane, \mp?
1 q 1 q

(3) dne YmI? (4) 2ti\me 13

value of the electric field intensi
of this sphere :

(1) 160 volt/ meter (2) 120 volt/meter
(3) 80 volt/meter (4) 60 volt/meter

29
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75.

76.

@Wﬁaﬂ%ﬁlﬁaﬂﬁiﬁRﬁwaﬁﬁ%

gs U% & 240
al@/ﬁro%lsﬂﬁ%r%%ang&w%ga%awnjg;rm4?
(1) 160 diee /Hio (2) 120de/Hlo

(3) 80 dre /Hlo (4) 60 diwe /Ao

Ratio between the bar magnetic moments of two similar (in size) bar
magnets is 1:2 these are kept one over the other such that their
similar poles coincide each other and are allowed to unilerate in a
magnetic field and the time period of oscillation is found to be 3 sec.
If the poles of one magnet are over turned and the system is again
allowed to oscillate in the same field the time period of oscillation will

be :

@%W?ﬁwwﬁ%ﬁﬁsﬁ%wﬁ—ﬁﬁg@w
M—Mgﬂ%%ﬁl@g@aﬁﬂaﬂﬁaﬁmﬁww
Eﬁﬁfsﬁom%lﬂﬁ@ﬁgﬁﬁﬁ%gﬂwﬁﬁaﬁﬁsﬂw
aﬁaﬁéﬂﬁwmwaﬁmé‘m:

Q) 35 ¥ @ fpR O ;\‘,-gao @) {gao

The meniscus of & liquid contained in oné of the limbs of a narrow U-tube
is placed between the pole pieces of an electromagnet with the meniscus
ine with the field. When the electromagnet 18 switched on, the

(1) Ferromagnetic (2) Diamagnetic
(3) Non-magnetic (4) Paramagnetic
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78.

wuqﬁﬁaﬁ@wﬂﬁ@ﬁaﬁreﬁﬁmaﬁ(ﬁﬁm)
T YT Fuh B YT @O B A9 A 39 GHR @ ST B Py

me'ﬁw?@ﬁ%lﬁgﬁwﬂwwﬁﬁ
BT WX 5T B TA T B YT § S Ie T 21| 98 39 A

ﬁ@hm%ﬁsm
(1) eg=m 2 (2 dRgEEE ®
(3) Srg=EE & (4) STIHg=EHY ¥

A coil of inductance 8.6 mH and resistance 60 is connected toa 12 v

battery. The current is in the coil will be 1.0 ampere approximately at
the time : '

(1) after 1.5 mili. sec. (2) after 2 mili.sec.

(3) after 1.2 mili. sec. (4) after 1 mili.sec.

%@sﬁﬁwmaﬁmﬁ TT 9k 6 B, 12 ae 9 Y
| S Il ¥ 1 Fvseh F awr @7 " 1.0 TRER Br T ST |

(1) 1.5Rfo Yo a . (2) 2.0 fsfto Fo a®
B) 1.2 frsflo Fo T (4) 1.0 P=ito Yo g

In an A.C. circuit the current js given by I = I sinwt. The value of the
time taken in changing the current from jts maximum value to R.M.S.
value of the current in this circuit will be :

@Wﬁwmﬁ.wwqﬁl=lusinm;%IW%m
Wﬁﬁ%ﬁ%%ﬁﬁﬁﬁmwwm:-
m = @ = @ = (4)3“;)—
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79.

80.

81.

The threshold wavelength of a metal is 4000 AU. If light of wavelength

3000 AU irradiates this metal surface the maximum kinetic energy of
photo electrons is :

fepeft g & o el admaed 4000 AU 21 af 3000 AU TR
Eﬁrmsﬂaﬁﬁdsq?wq%déﬁmﬂaéﬂfﬁfaﬁaﬁﬁﬁﬂﬁ
st FHstt B | |

(1) lLbeV (2) 1.38eV (3) 1.0eV (4) 1.2eV

A proton moving with constant velocity, passes through such a place
where its velocity does not change. If g and g represent the electric
and magnetic fields respectively then indicate the false statement

about these fields at this place :

WW@W%@W@W,@@'W@W%W*
=@ AT # HIS uRad" e farl A E T B U dgga aT
Wﬁﬁ@ﬁéﬁww%aﬁﬁﬁﬁﬁﬂﬁﬂ—ww

T 2 |
(1) E#0B=0 (2 E=0B=0 () E=0,B=0 (4 E=0B#0
The black body radiates energy at the rate E watt/m? at a high tem-

: T ‘
perature T K. When the temperature falls to 5 K the radiated energy
will be : '

@WWWWTKﬂEm/ﬁoziﬁﬂﬁmaﬁ

Wﬁﬁm%lﬁﬁﬁq%K mﬁmmawwﬁiﬁwﬁeﬁ:

, E E
1) % @ 5 @ iz (4) 4E
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82.

83.

84.

The peak value of the A.C. voltage across the secondary of a trans-
former in a half wave rectifier with no filter circuit is 95 volts the

maximum output D.C. voltage across the load is :

9
(1) 4.5volt (2) 9volt (3) 72 volt (4) 18volt
FEACT Reeoprlt § Sraopniy 2 v & aRer: et (Totio)

fawa &1 sfid 7/ o, éiﬁf%l@?fﬁﬂ'{(ﬁh@)ﬂ?ﬁtﬁ(é’r.vsﬂ.)ﬁﬂa
H AHTH A9 Fra=r enr ?
9

(1) 45ae (2 9dre (3 Eahﬁ (4) 18 dre

The current gain for a transistor working as comman base amplifer is

0.96 . If the same transistor is used as comman emitter amplifer and

the base current is 25pA then the collector current is :

(1) 400pA (2) 500pA  (3) 600uA (4) 800uA
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85.

86.

@Wgﬁﬁﬂgﬁfaﬁnﬁﬁaﬁﬁommev%lqﬁwa&
3@ 3P 700 o B Al 10 ez gl ag B A g B BT AN
BT B S ? (| @ SAHN = 1.675 x10-27 o)

(1) 2.45x10-6 (2) 1.25x10-4
(3) 4.76x10-5 (4) 3.96x10-6

If an iron needle floats on the surface of water then the reason for

this event is :

(1) Viscosity of water

(2) Buoyancy of water

(3) Surface tension of water

(4) Gravitational force of water

a%@%aﬁwqéﬁaﬁmw%ﬁﬁ%ﬁfmmm
HROT B
(1) Gl sl LT (2) gt B I qd

(3) 9t &1 g dAE (4) O B JeEE T4

A sateliite 6rbiting in a circular orbit of radius R completes one revolution

.1 3 hours. If orbital radius of geostationary satellite is 42000 km.

then the orbital radius R of the satellite (in Kelometers) is :

: AR 3 W
@maﬁrﬂ%qc—cﬁunﬁaﬁﬁwﬁ@aﬂ?
w%m%tuﬁﬁﬁfﬂwﬁéﬂ?m%qﬁﬂwﬁﬂﬁwnom

%oﬂoﬁﬁ%%ﬁmaﬁﬁwa(ﬁﬁﬁ.)ﬁ@ﬁ:

(1) 9000 (2) 5250 (3) 10500 (4) 21000
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87. The babies born before 37 weeks of gestation are :

(1) Full term babies (2) Preterm babies

(3) Small for date (4) Low birth weight babies
THERT & 37 WE B gd o Ry e -

(1) B = frg (2) st fRrg

(B) & Bk ST (4) " AR ST g

Severe protein-calorie malnutrition in children resulting in a shrunken
elderly appearance is called:

(1) Anemia (2) Kwarshiorkor

(3) Marasmus | (4) Goitre |

T A IR S-St e & o e R, g Seh
BT A wed ¥ - |

(1) EITegar (2) =FERERTFT

(3) AE | (4) T

Powerful chemical substances secreted by endocrine gland and
carried through the body by the blood stream :

(1) Hormones (2) Enzymes

(3) | Cofactors | (4) Coenzymes

STO-TEE It & W R a3 vaTed sfreTeh
REIC G T

(1) =mis (2) T~nEH

@) @t (4) @iTTERR

What is green gold ?

(1) A green algae (2) Tendu Patta

() Horticulture product (4) Green manure
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91.

92.

93.

94.

A= Mes =T 8 7

(1) &0 g (2) =g I

(3) eifdehear IR 4) B0 @@=

Which one of the following fruits is most suitable for jelly making ?
(1) Mango (2) Papaya

(3) Guava (4) Banana

g § & Be- B e g @ RIe ade SugE B 7
(1] HAH (2) gdran

(3) 3THEG (4) el

Following 1s a complex molecule that contains genetic informatiot: .

(1) DNA (2) RNA

(3) Protein (4) Oleic acid
Frefarfae o sife o] & fom S ger fAfed ® ¢
(1) So Ufo Qo (2) STo THo Wo
(3) " (4) fffeTe o7t
The transfer of information from sender to a receiver is :
(1) Extension (2) Education

(3) Communication (4) Management
AT D OTEERAt @ gEET w1 AT 8

(1) 98 (2) forem

(3) TAR 4) 9«9

Sulphur containing fibre is:

(1) Nylon (2) Rayon (3) Wool (4) Silk

HeHT HrEaT AT ©
(1) Araar (2) W@ (3) A 4) X9
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95.

96.

97.

98.

Large intricate designs transferred to fabric are called :

(1) Dobby weave (2) Spot weave
(3) Jacquard designs (4) Lapper weave
TH T T e Romget @& werrawer daemer
(1) == g (2) e &g
(3) SrE fewmga (4) Wux g
A true bias is cut at an angle of ;
(1) 45°to warp : (2)  75° to weft
(3) 120° to selvedge (4) 180° to warp
U ARt qeE PR @ g3 STt &
(1) ad q 450 (2) AFT F 750
(3) HAAT F 1200 (4) ard ¥ 1800
Keratin is found in the following :
(1) Nylon (2]  Wool (3) Cotton (4) Rayon
e Frfefae & arar ey &
(1) Sfaam= (2) IH (3) feq (4) =TT
Printing method originated in Java is :
(1) Batik printing - (2) Block printing
(3) Roller printing (4) Discharge printing
T d Sy Rife fRfy 2
(1) =nfees fifen (2) F Rifesr
(3) e fHifd (4) ST Rifye
37
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99. Maximum resiliency is found in : _
(1) Silk (2) Polyester

(3) Rayon (4) Wool
I=gan e feataad | Qe S -
(1) Y™ (2) YffeTTEey
(3) WA (4) A

100. Moral anxiety is converted into an objective fear known as :

(1) Reparation (2) Ratimization

(3) Projection (4) Anxiety

%’ﬁmﬁ:ﬂ%eﬁ@tﬁtﬂwﬁaﬁﬁmaﬁf%:
(1) I (2) femTESIT

(3) mSAERE 4) =
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